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QUESTION 1

A developer wants to create a procedure called getAccountinfo in a Worklight SQL adapter to retrieve account
information from a backend database. The procedure should invoke a SQL query that accepts an accountID as

parameter and returns the accountNumber, accountName and accountBalance of the corresponding row in the Account
table.

What is a correct implementation of the procedure in the adapter\\'s JavaScript file?

F|A. wvar selectAccoint3tatement = WL. Server.create3QL3tatement |
"FELECT accountNumber, accountName, accountBalance FROM Account WHERE accountlNumber = 27 ;

function getAccountInfo (accountID)

return Wh.Server.invoke3oLStatement [ {
prepareditatement : selectAccountStatement,
parametess @ [accountID]

g

Tunction getAccountInto(accountID) {

wvar getAccointStatement = WL. Server.create3QL3tatement |

"SELECT accountNumber, accountNeamwe, accountBalance FROM Account WHERE accountlumber =
il

return WL.3erver.invoke30L3tatement [ {
prepareditatement : selectAccountStatement,
parametess @ [accountID]

T

" C. war selectAccount3tatement = WL.Server.create3QLStatement [
"SELECT accountNunber, accountName, accountBalance FROM Account WHERE accountiurber = 27);

tunction geticcountInto(accountID) |
return WL.3erver.invokeSiL3tatement ({

prepared3tatement : selectiAccountStatement (accountID)

Hh:

T 0. funetion geticcountInfo (accountID) |

var selectAccountStatement = WL. Server.createSOL3tatement |

"SELECT accountNumber, accountName, accountBalance FROM Account WHERZ accountlunber =
)

return WL.3erwver . invoke3oL3tatement ( {
prepared3tatement : selectAccountItatement (accountID)

s

A. Option A

B. Option B
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C. Option C
D. Option D

Correct Answer: A

QUESTION 2

Which of the following is not a client side push API?
A. WL.Client.Push.isPushSupported()

B. WL.Client.Push.isSubscribed()

C. WL.Client.Push.unsubscribe()

D. WL.Client.Push.poll()

Correct Answer: D

QUESTION 3
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Which of the below connections are mandatory for push notifications to work? (Choose three) A. Client application

should be able to connect to a APNS/C2DM server

B. Client application should be able to connect to Worklight server

C. Worklight server should be able to connect to a APNS/C2DM server
D. More than one OS platform is required

Correct Answer: ABC

QUESTION 4

Where in the Worklight project structure do Worklight.properties belong?
A. server\conf

B. resources\properties

C. servenlib

D. tomcat\worklight

Correct Answer: A

QUESTION 5
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A Worklight mobile application uses a native page to display a real-time graph of the price of a stock symbol. The native
page is invoked from a web page using the WL.NativePage.show() method and requires a parameter that contains the
value of the stock symbol to display. To pass the value of "IBM" as a parameter to the native page using the parm
variable, how should the variable be initialized before passing it to the method?

A. var parm = "IBM";

B. var parm = ["IBM"];

C. var parm = {symbol: "IBM"};

D. var parm = ["symbol", "IBM"];

Correct Answer: C
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